Labs 3 — Exercise 3
Divisible by 2 and/or by 3?

GIVENS : (none)
RESULT : (none)
INTERMEDIATES : integer (an integer)
divisibleBy2By3 (0 —not divisible, 1 —by 2 or 3, 2 —by 2 and 3)
HEADER : main()
BODY :

print(“Enter an integer: “)
integer < readinteger()
divisibleBy2By3 € isDivisibleBy2By3(integer)

divisibleBy2By3 = 0 ?
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printLine(“The integer “, integer,
“is not divisible by either 2 or 3.”)

printLine(“The integer “, integer,
“is divisible by either 2 or 3.”)

divisibleBy2By3 = 2?

false true

printLine(“The integer “, integer,
“is divisible by 2 and 3.”)
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GIVENS : integer (an integer)

RESULT :  divisible (0 —not divisible, 1 — by 2 or 3, 2 — by 2 and 3)
HEADER : divisible < isDivisibleBy2By3(integer)

BODY :
(Version 1 — Sequence of branches)

divisible €< 0
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Branch #

(Version 2 — Nested Branches)

(integer MOD 2) =0

Branch |




